w2 A E BT L —X2014 2014.5.11
E1o[lgEiF > 2 = v, —X H1L—2R ZaL—2 BIL—R
175 & 175 & 190 &
47 —53 m/s 3 m/s 3.5— 42 m/s
No. | B 4 FEST | wE [N BIE mE @8a | BIE RE 8a | BIE BE 85 KBS KeER
12|A)ll % |BRGEEHE |by1E 12 3 3 3 1 1 1 1 1 1 5 1
1155 28 |secEES21=7|[I2sE 1 1 1 1 2 2 2 4 4 4 7 2
41t/ MEF [BecEES1=7 |uziaz 4 5 5 5 4 4 4 3 3 3 12 3
5|f% EE  |BecEEVi=7[izas 5 4 4 4 3 3 3 7 7 7 14 4
3| B EE [BRGEWNEE|nyes 3 2 2 2 6 6 6] 10 10 10 18 5
OB MBI |BRGEMEE |y 9| 10 10 10 7 7 7 2 2 2 19 6
INARBERXR |mae—yozo—n |[gse 7 6 6 6 9 9 9 5 5 5 20 7
10| A |zse—vozo—n|hes 10 8 8 8 5 5 5 9 9 9 22 8
2|KRK FEFH  [mumry—sva=y |ngas 2 9 9 9 8 8 8 6 6 6 23 9
NHPE KiE |FEO2=F |nzes 11 7 7 71 10 10 10 8 8 8 25 10
6 TE X [sechLsuvmst|dyes 6] 11 11 11 13 13 13| 11 11 11 35 11
8| IHH) [BecEEUaL=7|igssE 8] 13 13 13| 11 11 11| 12 12 12 36 12
1428 H% |sechplsums|msis 20 12 12 12 12 12 12| 14 14 14 38 13
13| RK¥ LA sechu s ms | hes 19] 14 14 14| 14 14 14 13 13 13 41 14




